January 29 2013 1st.gwb - 1/3 - Mon Jan 28 2013 10:12:02

@ >/—‘ S\AX FosX

= Y’z cosx =X

T (05X — SinX
5? v l ) 0= 04D -0 4,
10X = (05X Y
o =3¢ T 3T ey 20
ncr ol T7r>i %T";l ) &
e (F3) () 37), ere
' =2
@ z i 2;( 3 >‘¢3|| LMZ y=1
XZ =t
) F(x 4 43)”’(;(;:‘;'-4\ =TT b
(X-?—L/y""j (X;'-%(}J)-? _y
D= ~UeT+bx 0=x=-Yxt3
O= l-2x 13) 0= (x-3)%1)
ZX-:O —;-2}(‘\'3:0 )(: 3,I
— -2 =
- , — 0+ to_ @~
- Y N o/‘)/’"%\)jN
2
. X
>/ 5(;(/4)('1‘3

(1)) (37




January 29 2013 1st.gwb - 2/3 - Tue Jan 29 2013 08:19:13

fitao 0

@ V= X - 20057 +605x% -2 $l1oay) = 75597.3
Fo iy — 00 2 4 LS -H—Loaf)= - Yo% 04

y = g L{).00)= Y04 09

0= 5" ~b0)x” + 605 T(10.9)= -75543

0=x7=120x%+=I

>/—/-r\+ = -2
erit #s w= -/0,”?}) - ROV} Loog /0.9)
+ 0 — 0 0O __ ©
£y & : ; — BN o
—lpal_ —|ovs 100 g2 — I
ST S |

@ INOEN

2D

;G 0 he Xlb, X2
\c{t-ﬁ* £ll>o 0¢x i
ey

n(r,

2 @D)=ltry = (R, L2y
|

] - _ )
s = (7" = S k¥
2 =0

+ oy s'() \\/_@ 5

CF/W“‘/S /\’\Cv‘(ﬁﬁl\ﬂj - 44&’5 6?/"‘/6,%f /;16«{&{/1—?

3t i((:?-l LU0 e, xo2
)0 -lxea
3 .r—//-r)-:b
L £(5) dne
T |
- 5 _

oy e F——"F—
N2 2y




@ 7C(/<) = 3 +9x7 =24y =10

(2 F()= xI=bx? #]
‘?/("‘\ deny H#s

(9 0= x"
X § () + o H)

() $&)- X T —§x? #/0




